Questions on Imagery

Question:
Discuss how effective you find the writer’s use of imagery



in lines 51-70 in making her point clear.  You may refer

in your answer to one or more examples.

Extract from Text:

Yet at the heart of this ever more draconian approach to immigration policy lie a number of misconceptions.  The UK is not a group of nations swamped by a tidal wave of immigration.  Relatively speaking, Europe contends with a trickle of refugees compared with countries who border areas of famine, desperate poverty, or violent political upheaval.  The countries of origin of the highest numbers coming here change from year to year, depending on the hotspots of global conflict.  A significant proportion of refugees want nothing more than to be able to return to that homeland when conditions allow.

But, whether they are transient or would be settlers, they face an uphill battle trying to find employment.  People with real skills and talents to offer us find themselves in the black economy, or unemployed, because of a sluggish system of processing applications, allied to regulations which preclude the legal marketplace.

Extract from SQA Marking Instructions:

Marks will depend on the quality of comment on the image(s) selected.

Reference alone:  0

For full marks there must be clear understanding of the image(s), an appropriate connection made to the point the writer is making, and some evaluative comment, although this may be implicit.

Possible references:

1.
‘heart’



4.
‘hotspots’

2.
‘swamped by a tidal wave’
5.
‘uphill battle’

3.
‘trickle’


6.
‘legal marketplace’

How many marks would you award to the following answers?
[Remember you may award ½ marks and that the question is worth 2

 marks.]

a)
The writer’s use of imagery is effective as she says ‘by a tidal wave of immigration’ and ‘a

trickle of refugees’.  This gives the idea that Europe only have to deal with a small amount of refugees compared to the huge amount there is and the imagery of water helps you to see how little numbers of refugees we have to deal with.
b)
A ‘tidal wave’ is literally a huge destructive force which over-runs land and people.  Bt contrast a ‘trickle’ is a small, easily stopped amount of water.  The writer effectively compares the misconception of how much immigration there is to the UK with reality.

c) The metaphorical ‘swamped by a tidal wave of immigration’ is apt; ie clearly conveys the idea that the UK has not been invaded or over-run by immigrants, as the word choice of ‘swamped’ may suggest.  The word choice of ‘tidal wave’ has connotations of something of a powerful and destructive nature, contrasting to the writer’s positive attitude towards immigrants.

Answer – Please cover this section of the page before you begin the above exercise.

a) 0 points – Does give a vague reference to water, but shows no awareness of imagery.

b)
2 points -  Explains the literal meaning of both part of the image then explains how the image

 fits the context.

c) Only explains one part of the image, fitting it to the context.      

Questions on Word Choice

Advice to candidates:

· You are being asked to select key words and show how the connotations of these words are being exploited by the writer.
· There are no marks for simply picking out the words.  
· There are no marks for repeating the question.  This means no marks are awarded for vague waffle!
· A useful strategy can be to compare the word you’ve chosen with a more ‘neutral’ word, eg ‘She strode into the room.’  A more neutral word would be ‘walked’.  Difference: the choice of ‘strode’ suggests a purposeful action by a confident person.
Question:
Show how the writer’s word choice in the sentence ‘That is . . .and

 work’ (lines 16-18) makes clear her attitude to certain politicians. 

 Refer to two examples in your answer.                             
(2 marks)

Extract from Text:
That is a lesson from history some of our more hysteria-prone politicians would do well to ponder as they devise ever more unfriendly welcomes for those who would come here today to live and work.  

Extract from Marking Instructions:

Marks will depend on the quality of comment on the connotation(s) of the chosen word.

Reference alone:
0 marks  

1.
‘lesson’

implies need for instruction/improvement

2.
‘hysteria-prone’
sense of frenzied behaviour, implications of stirring up





others’ emotions

3.
‘ponder’

implies their normal course of action lacks thought

4.
‘devise’

sense of scheming

5.
‘’unfriendly’

antagonistic attitude

6.
‘ever more’

sense of their relentlessness

7.
‘would do’

judgemental tone

What mark would you give the following answers?

[You may award ½ marks.  The question is worth 2 marks.]

a) The words ‘hysteria-prone’ make clear the writer’s opinions on politicians as the word ‘hysteria’ gives the image of someone unstable and out of control.  The word ‘devise’ has connotations of evil and mal-intent, someone cruel and plotting.

b) The writer’s word choice in lines 31-34 makes her attitude towards certain politicians clear as she uses word which describe her feelings, ‘unfriendly’ and ‘hysteria-prone politicians’, of the politicians’ attitudes to immigrants.

c) Word choice

· ‘hysteria-prone’ – conveys the writer’s thoughts about some politicians; that they are paranoid and excessively anxious about immigration into Scotland, when the result is more often than not, beneficial for their country.

· ‘devise . . . unfriendly’ – conveys the writer’s thought that many of the paranoid politicians try to form very unwelcoming strategies, giving the impression of them being very sly and cunning in their attempts to stop immigrants.

Examiners’ Marks – Cover this section before beginning the above exercise.

a) 2 marks - clear, concise answer.  Attitude implicit.

b) 0 marks - connotations of words not explained.  Vague reference to attitude.  No analysis. Wastes time repeating part of the question.

c) 2 marks – clear, structured answer. Rather long but fully analysed.

